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Math 8 Unit 2 Real Re\iééw

Show work OR write an explanation of how you arrived at your answer. Work or explanation is required!! Write the letter of your final

answers in the answer box.

1. Which is a rational number, an integer and a whole number?
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2. Which number is irrational?

A. 1.6739 (BN12 C. 6.23
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3. Which number is rational? 3
A m B. V5 (c)o D
4. Which number is an integer?
ANV16 B. V27 E0=N 1 D

5. Which is a proper classification of -9.217?
A.) Rational and negative
. Irrakional and decimal
C. Irrdtional and negative
Rational and infeger

whole

. 2V/6

. NTLT

6. Which is a proper classification of -6.789...... ?
A. Rational and wkole

B. Rational and integer
C. Irrational and int€ger

Irrational and real

7. Which of the following answers describes the set of numbers that

v—64 belongs to?
A. Prime
B. Integers only
C. Irrational only
Both integers and rational

8. Which is an irrational number?

A —=7.171771777... B V49 C -49 D -/49
: J16
9. Which name does not apply to—T ?
A integer rrational number
C rational number D real number
10. Which number is between 14 and 15?
(R)vz00  B.Vi%0 C. Vioo

D. v228

Answers




16. Convert to fraction b - Answers

11. Describe the similarities & differences between irrational & . , 3 2 A 11
rational numbers. L OOX = 3la .| 1% e P—ARTN .5.5 - c’ '
X = 3.12 .y e B 33 ok
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17. Convert to fraction —_
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i 18. Convert to fraction £y |
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13. Simplify Iy )’“3 g \f— \/_ 43, ‘/— 14 :%.os T
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15. Convert to fraction V65 , V60 8 5
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